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16

17 f={(2,3),(1,4),(2,1),(3,2),
(4,4)}
kjpg;gfj;jpd; cWg;g[ 2
nUKiwte;Js;sJ. rhu;gy;y

18 r= = . x
19 }yA;fs;=a, a2

}.T a+ a2 =
}.bga3 = -27
a= -3
-3+ 9 = -k
k= -18

20 + = − ( −+ )− = − ( + )
kP.bgh.k
=( + ) − ( − + )

21

aij=

22 x=5   y=-4
23 l:m tpfpjj;jpy; cl;g[wk;

( , )
gpupf;Fk; g[s;sp= (5,7)

24 PA x PB = PC x PD
x=5   AB = 5

25 = + −( + )+ − −++ − ++++( + )+
=cot =

26 ° =
x=20, CD=20
BC=20+20=40

27 V1:V2:V3

= πr2h: πr3:πr2h

= : :
= 1:2:3

28 jpz;kmiuf;Bfhsbkhj;jgu
g;g[

3πr2=675 r2=225
jpz;kmiuf;Bfhstisgug;

g[=2πr2 =2 ( )
=450

29 = ∑ − ∑
==  =

30(
m)

\d;W g[s;spfs;
xnunfhl;oy; mikaf;
fl;Lg;ghL
x1y2+x2y3+x3y1 =
y1x2+y2x3+y3x1

ab=ay+bx + =
30
(M)

bel;lhz;L= 366 ehs;
= 52 thu';fs;+ 2 ehl;fs;
2 ehl;fs;={("h.jp),
(jp.br), (br.g[), (g[.tp),
(tp.bt), (bt.r),(r."h)}
52 bts;spf; fpHikfs;
kl;Lnk ,Uf;fepfH;jft[=

XU kÂ¥bg©
édh éil

1 (b)A\B=A B
2 (a) k2

3 (b)
4 (c) x+1
5 (b)
6 (d)tiuaWf;fg;gltpy;iy

7 (a) °
8 (b) 3x – 2y = 0
9 (d) 4 br.kP
10 (c) 12 br.kP
11 (a)
12 (c)
13 (d) 27: 125
14 (d) 0
15 (c) 0
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31

fzf;bfLg;gpd;BghJnU
e;jtu;fs;=154
xUghlj;ijkl;Lk;
fw;gtu;fs; = 24+60+22
=106

32

tupirBrho= { 6,1 , 9,2 , 15,4 , 18,5 }
ml;ltizx 6 9 15 18 21f( x) 1 2 4 5 6

33 S(odd)= + + ⋯+
n+1 cWg;g[fs; cs;sd
=( ) [ + ]
=( ) [ + + ]
=( ) [ + ]
=( ) [ + ]
=(n+1)(a+nd)
S(even)= + + ⋯ +
n cWg;g[fs; cs;sd
= [ + ]
= [ + + + − ]
= [ + ]
= [ + ]
=n(a+nd)( )( )= ( + )( + )( + ) = +

34 Kjy;cWg;g[=A
bghJtpfpjk;=R===== = 1

35 Nt[=

= − + +
p = -2     q = 0 kPjp = -10

36 A = a – b + c
B = 2 (a – b)
C = a – b – c− =− − −+

(a – b – c )= − − [ −− ]=
KG tu;f;fk;
}yA;fs;
tpfpjKWvz;fs;

37 === =
= + + + ++ + + += =

38 = − −− − −
= + + + −− − − −
== r.myFfs;

39 2x – 3y + 4 =0,x–2y+3=0
re;jpf;Fk; g[s;sp  (1, 2)
(3, -2) (-5, 8) nizf;Fk;
Bfhlod; eLg[s;sp ( -1, 3 )

=

x + 2y – 5 = 0

40

A=rpWtd; = √= √ h= √√= h=√
x = √
h = √ x √ = 87 kP

41 mog;gug;g[ = = .
fdmst[= = .= .. =

x = .= . = .
c.t.g= =

42 r=2x   h=3x vd;f.

πr2h= .
x 3.14 x 4x2 x 3x = .= =

43 tp.t.ruhrup

2= −−
= 54.25 – 0.0625
= 54.19

44 P(AUB)=0.16+0.24-0.11
=0.29

 + (  )
=(0.16-0.11)+(0.24-0.11)
=0.18

45
(m)

∆ -y; ∠BDAd;
BfhznUrkbtloDP
vd;f.= -----①∆ -y; ∠ADC d;
BfhznUrkbtloDQ
vd;f.= -----②=②ypUe;J ==PQ∥BC

45
(M)

2 x2 - 3 x – 1 =0

α+β= ,αβ=+ = + −=+ = + −=
= + = += −

g¤J kÂ¥bg© édh éil

46
(m)

cjtpg;glk;---❷
Kjy; 6br.kP; tl;lk;---❷

10br.kP BfhL---❶
ikaf;Fj;Jf;BfhL---❶

2-tJ tl;lk;---❷
bjhLBfhLfs;---❶

ePsk; msf;f 6.3br.kP---❶
46
(M)

cjtpg;glk;---❷
AB=6br.kP tiujy;;---❶

ABCtiujy;;---❸
ikaf;Fj;Jf;BfhLfs;;--❶

tl;lk; tiujy;---❷
ehw;fuk; tiujy;;---❶

47(
m)

X Y
-4 21
-3 12
-2 5
-1 0
0 -3
1 -4
2 -3
3 0
4 5

X= {-1, 3}
mr;R, mst[j;jpl;lk;---❸

ml;ltiz---❸
glk; tiujy;---❸

jPu;t[---❶
47
(M)

X Y
1 20
2 10
4 5
5 4
10 2
20 1

x = 5 vdpy;y = 4
y = 10 vdpy; x = 2

mr;R, mst[j;jpl;lk;---❷
ml;ltiz---❹

glk; tiujy;---❷
jPu;t[---❷
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